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QUESTION 1

Table of Acronyms 

Refer to the exhibit. 
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An administrator wants to route all external traffic from VPN instances "TenantA" and "TenantB" to a firewall at 10.0.5.5
instance "SharedServices". In addition to setting up the routes between the instances, what is another requirement for
this scenario? 

A. A router must implement Network Address Translation (NAT) to translate overlapping tenant network addresses. 

B. Route leaking must be enabled globally on Router1, as well as on each of the VPN instances. 

C. The RAGG 3 interface must be added to VPN instances "TenantA" and "TenantB". 

D. Route leaking must be enabled globally on Router1. 

Correct Answer: C 

 

 

QUESTION 2

Table of acronyms 
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Refer to the exhibit. 

An administrator is setting up an MPLS and L2VPN virtual circuit (VC) between customer Site 1 and Site 2. The
administrator is creating a global cross-connect group, which uses LDP signaling, on PE-1. Which two elements are
required to do this? 

A. An AC connection (specifies a service instance on g1/0/1) and a peer (PE-2) 

B. A peer (PE-2) and a VPN instance (associated with g1/0/1) 

C. A peer (PE-2) and a VLAN ID (access VLAN or. g1/0/1) 

D. An AC connection (specifies a service instance on g1/0/1) and a VPN instance (associated with g1/0/1) 

Correct Answer: CD 

 

 

QUESTION 3

An administrator sets up an OpenFlow instance on an HP Provision switch in passive mode. What does this mean? 
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A. The switch first attempts to switch or route traffic using its own MAC forwarding and routing tables. If it does not know
how to treat the traffic, it uses the OpenFlow table. 

B. The switch does not associate this OpenFlow instance with a specific VLAN Instead VLANs that are not assigned to
another OpenFlow instance are associated with this instance. 

C. The switch matches all traffic in the instance against an OpenFlow table, but, if it finds no match, it forwards the traffic
normally 

D. The switch does not forward any traffic in the instance locally. Instead, it encapsulates all traffic in OpenFlow
Packeket_Out messages to the controller. 

Correct Answer: B 

 

 

QUESTION 4

Table of Acronyms 

Refer to the exhibit 
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An administrator wants to connect four data centers using HP EVI. What is the correct setup for the EVI tunnel
interfaces? 

A. Three EVI tunnel interfaces on each EVI edge device-one EVI tunnel interface is required for each GRE tunnel in the
mesh 

B. One EVI tunnel interface on Switch 1, which will be configured as the ENDP server, and no interfaces on the other
switches 

C. Three EVI tunnel interfaces on Switch 1, which will act as the hub. and one EVI tunnel interface each on the other
switches 

D. One EVI tunnel interface on each EVI edge device--the devices automatically establish GRE tunnels between these
interfaces 

Correct Answer: C 

 

 

QUESTION 5

Which OpenFlow use case is an example of Network Functions Virtualization (NFV)? 

A. Use OpenFlow to deploy configurations using IMC VAN SDN Manager. 

B. Use OpenFlow to implement a router on an open-vswitch. 

C. Use OpenFlow to replace the need of an snmp-agent on the switch. 

D. Use OpenFlow to implement traffic prioritization on the edge. 
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Correct Answer: C 
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